[bookmark: _GoBack]GROUP WORK QUESTIONS


QUESTION 1

(a)	You passed your attorneys’ admission examination and your contract as candidate attorney expires shortly. You want to be admitted as an attorney. Bear these facts in mind, and answer the following questions.
 
	(i)	Explain which type of application you may use.                    	(2)

		(ii)	Name the documents that comprise the type of application identified in (i) above. 
				(2)

	(iii)	Explain why the type of application referred to in (i) above is not an interlocutory application.                                                	      (2) 

		(iv)	If the application now relates to leave to serve a document overseas by way of edictal citation, name four aspects that the content of such application must cover as prescribed by Uniform Rule 5(2).	(4)
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	(b)	X issues a simple summons against Y for ejectment. Answer the following questions.

	(i)	Explain why X will not be able to use the provisional sentence summons to institute the action.                                            	(2)

	(ii)	Name the procedure that X may use if Y enters an appearance to defend timeously, but X is convinced that Y does not have good grounds to do so.	(1)

	(iii)	Y enters an appearance to defend, and X fails to deliver his declaration timeously. Discuss the procedure that Y may follow in these circumstances. 	(3)

	(iv)	If X delivers his declaration, name the pleadings in convention that thereafter will usually be exchanged between the parties in the correct order.	(2)

	(v)	Name two procedures that may be used after close of pleadings to prevent the parties from being caught unprepared at the trial.	(2)
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	QUESTION 2

(a)	X has a claim of R250 000 for payment of goods sold and delivered to B, which despite demand, B refuses to pay. X has no option but to institute proceedings in the local High Court. In each of the instances set out below, the procedure followed by X is incorrect. State briefly what the correct procedure should be, giving reasons for each answer.

(i)	X issues a provisional sentence summons against B.              	(2)

(ii)	B raises a defence on the merits by means of a notice of intention to defend.  	(2)

(iii)	Although B has entered his notice of intention to defend within the time stated in the summons, X applies for judgment by default.               	(2)

(iv)	X files a replication to B’s counterclaim.                                        	(2)

(v)	Because it appears that B wishes to flee the country so as not to abide the judgment of the court, X applies for the arrest of B’s person ad fundandam iurisdictionem.  	(2)
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GROEPWERKVRAE


VRAAG 1

(a)	U het u prokureurstoelatingeksamen geslaag, en u kontrak as kandidaatprokureur verstryk eersdaags. U wil graag as prokureur toegelaat word. Beantwoord die volgende vrae aan die hand van hierdie feite.

	(i)	Verduidelik  watter tipe aansoek u mag gebruik.                      	(2)
                                                                                                                                                  
	(ii)	Noem die dokumente waaruit die aansoek na verwys in (i) hier-bo, bestaan. 	(2)

	(iii)	Verduidelik waarom die tipe aansoek na verwys in (i) hierbo nie ‘n interlokutoriese aansoek is nie. 	(2)

	(iv)	Gestel die aansoek handel nou met verlof om ‘n dokument in die buiteland by wyse van ediktale sitasie te beteken.  Noem vier aspekte waarmee die inhoud van die aansoek moet handel, soos voorgeskryf deur Eenvormige Hofreël 5(2). 	
			(4)
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(b)	X reik ‘n eenvoudige dagvaarding uit teen Y vir uitsetting. Beantwoord die volgende 	vrae.

	(i)	Verduidelik  waarom X nie  gebruik sou kon maak van die voorlopige vonnisdagvaarding om die aksie mee in te stel nie. 	(2)

	(ii)	Noem die prosedure wat X kan gebruik indien Y betyds verskyning aanteken maar X oortuig is daarvan dat Y geen goeie gronde het om dit te doen nie. 	(1)

	(iii)	Gestel Y teken verskyning aan, en X versuim om betyds sy deklarasie af te lewer. Bespreek die prosedure wat Y in so ‘n geval kan volg. 	(3)

	(iv)	Indien  X  wel  die  deklarasie  betyds  aflewer,  noem  die  pleitstukke  wat normaalweg hierna in konvensie tussen die partye gewissel sal word in die korrekte volgororde.                      	(2)

	(v)	Noem twee prosedures wat gebruik kan word na sluiting van pleitstukke om te verhoed dat partye onkant betrap word by die verhoor.	(2)
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VRAAG 2

(a) 	X het ‘n eis teen B in die bedrag van R250 000 vir goedere verkoop en gelewer. Ondanks aanmaning versuim B om te betaal. X is verplig om ‘n geding in die plaaslike Hoë Hof in te stel. In elkeen van die gevalle wat hieronder uiteengesit word, is die prosedure wat deur X gevolg word, verkeerd. Dui kortliks die korrekte prosedure aan. Gee redes vir elke antwoord.

	(i)	X reik ‘n voorlopige vonnisdagvaarding uit.          	               (2)
                      		
	(ii)	B opper ‘n verweer op die meriete deur middel van ‘n kennisgewing van voorneme om te verdedig.              	        (2)

	 (iii)	Alhowel B sy kennisgewing van voorneme om te verdedig geliasseer het binne die voorgeskrewe tydperk wat in die dagvaarding gestel is, doen X aansoek om vonnis by verstek.	(2)

	(iv)	X liasseer ‘n repliek op B se teeneis.                                 	  (2)

	(v)	Omdat dit blyk dat B die land gaan verlaat ten einde die vonnis van die hof te ontduik, doen X aansoek om die arres van B se persoon ad fundandam iurisdictionem.                              	  (2)  
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